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Question #225 
Key: C 
 

The quantity of interest is ln 5000Pr( 5000)P X �
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.  The point estimate is 
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For the delta method: 
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Then the variance of P̂  is estimated as 2 2( 0.1422) 0.0444 ( 0.16) 0.0222 0.001466� � � �  and 
the lower limit is 0.87 1.96 0.001466 0.79496LP � � � . 
 
 
Question #226 
Key: A 
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Then, 
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Question #227 
Key: D 
 
The requirement is that 
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For the five answer choices, the left hand side is 34,364, 15,000, 27,125, 39,243, and 
37,688.  Only answer D meets the condition. 
 
 
Question #228 


